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Q.1 IsS={(a,1,1) /ais real}is Subspace?
Option A: Yes
Option B: No
Option C: Sometimes yes
Option D: Sometimes no

Q-2 1 2 2

Theeigenvaluesfor A={2 1 2 |are
2 2 1

Option A: 1,2,3
Option B: -1,-1,5
Option C: 0,35
Option D: 1,36

Q.3 If A is the eigen value of matrix A then 1/ A is eigen value of
Option A: | A'
Option B: | A?
Option C: A-1
Option D: |A|

Q4 5 .

Evaluate j(2y +1 X) dz along Y = X from A(0,0) to B(2,2)
A

Option A: 1
Option B: 6
Option C: -1
Option D: None

Q.5 If (5, 8, 10) is a linear combination of (1, 2, 2) & (3, 4, 6) then
Option A: (5,8,10)=2(1,2,2) +1(3, 4, 6)
Option B: (5,8,100=3(1,2,2)+1(3,4,6)
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Option C: (5,8,100=(1,2,2) +5(3,4,6)
Option D: (5,8,10)=1(1,2,2)+10 (3,4, 6)
6 1+i
0 Evaluate I(XZ —1Yy)dz along Y =X
0
Option A: 1
Option B: 6
Option C: -1
Option D: None
Q.7 Check whether the vectors u=(-2, 3, 4) and v=(3, -2, 3) are orthogonal?
Option A: Yes
Option B: No
Option C: Sometimes yes
Option D: Sometimes no
Q8 dz
Evaluate .[3— where C is the circle |z|=2
cz’(z+4
Option A: 0
Option B: 7i/32
Option C: 1
Option D: 4
Q.9 If a square matrix A is non derogatory then it’s eigen values are
Option A: Same
Option B: Distinct
Option C: Inverse
Option D: Transpose
Q.10 Check whether the Cauchy-Schwartz inequality is verified or not for (2,3,0)
and (4,2,1)
Option A: Yes
Option B: No
Option C: Sometimes yes
Option D: Sometimes no
Q.11 _ _ 7-1
Find the poles of the function f(z)=————
Z2°+22+45
Option A: -1-2i & -1+2i
Option B: -1-2i
Option C: -2i
Option D: -1+2i
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Q.12 32° +2

What is the residue of f () = ——— at z=1
Option A: 1
Option B: 3
Option C: 2
Option D: 0
Q.13 Verify whether the Pythagorean theorem is applicable for u = (3,4) and
v =(-4,3)

Option A: Yes

Option B: No

Option C: Sometimes yes

Option D: Sometimes no

Q.14 If 1, 2 & 3 are eigen values of matrix A then eigen values of matrix A®are

Option A: 2,3&9

Option B: 1,4&9

Option C: 2,3&2

Option D: 0,3&9

Q.15 If the vectors (2, -1, 3), (4, 1, 2) and (8, -1, 8) determinant is not zero then
these vectors

Option A: Span vector space R®

Option B: Do not Span vector space R®

Option C: Span |

Option D: Do not Span |

0.16 )
Find the extremals of [ (xy +y* —2y”y")dx

Option A: y=-x/2

Option B: y =X

Option C: y = 3X

Option D: y=0

0.17 <y
Find the extremals of I— dx
5w X°

Option A: | y=cixX3+ ¢

Option B: Yy =C1X+ C2

OptionC: |y =ciX°+ C2

Option D: | y =cix®+ ¢2

Q.18 Every square matrix satisfies its own
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Option A:

Transpose equation

Option B: Identical equation
Option C: Characteristic equation
Option D: Linear equation
Q.19 If f(z) is analytic inside and on a closed curve C of a simply connected region
R and if zo is any point within C then f(zo) is
Option A: 1 f(z
2wt -1,
Option B: 1
27|
Option C: f(z
J‘ ( ) dZ
cl—1,
Option D: 0
Q.20 If c1 & c2 are two concentric circles of radii r1 & r2 with the centre zo and if f()
is analytic on C; & C; and in the annular region R between the circles, then
for any point z in R we express it in
Option A: Taylor series
Option B: Laurent series
Option C: Exponential series
Option D: Trigonometric series
Q.21 If the geometric multiplicity of each its eigen values coincides with the
algebraic multiplicity then the matrix is
Option A: Inverse
Option B: Diagonalisable
Option C: Transpose
Option D: Derogatory
Q.22 72
What is the order of pole of f(2) = : at z=1
(z-1D)°(z+2)
Option A: 4
Option B: 3
Option C: 2
Option D: 1
Q.23 2z do
Evaluate f—
05+3siné
Option A: I1/2
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Option B: I1
Option C: 1
Option D: 0
Q.24 If f(z) is an analytic function and if it’s derivative f°(z) is continuous at each
point within and on a simple closed curve C then the integral of f(z) along the
closed curve C is
Option A: 1
Option B: 0
Option C: 2
Option D: 5
Q.25 Which trial equation Raleigh-Ritz method assume?
Option A= | y(x) =a+bx+cx’
Option B: y(x) —aX+ bX2
Option C: )_/(X) =a+bx
Option D: y(x) —a+ bx2
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